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A newspaper boy gets paid £ g a week for delivering papers. After 4 weeks he asks for his wages, but he is deducted £2 for delivering papers to wrong houses.
a). Write an expression for the amount he is paid, in £'s.

b). He looks in his pay packet and finds £22. Use this information to form an equation.

c). Solve this equation to find how much he is paid per week.


Score: _____/3
1. Equations word problems
Example
1) [image: C:\Documents and Settings\ksa.sdolan\Local Settings\Temporary Internet Files\Content.IE5\2XT9P9YH\MC900410609[1].wmf]A gardener is planting flowers. He buys 4 bags with t daffodils in each. When he opens up the bags he finds 7 daffodil bulbs have gone bad.
a). Write an expression for the number of daffodils he can plant.

b). He actually planted 33 daffodils. Use this information to form an equation.

c). Solve this equation to find the number of daffodils in each bag.



Practice:
1)     Sulley has f bags of Lego, in each are 22 Lego blocks. Sam has 9 Lego blocks spare so gives them to Sulley.
a). Write an expression for the number of Lego blocks Sulley has.

b). Sulley actually has 119 blocks of Lego. Use this information to form an equation.

c). Solve this equation to find the number of Lego bags Sulley has.



2) On a school trip, y minibuses are needed. Each minibus will hold 14 pupils. After filling up each minibus the last mini bus has 3 spare seats.
    a). Write an expression for the number of pupils going on the trip.

    b). The teacher counts 81 pupils getting on the minibuses. Use this information to form an equation.

    c). Solve this equation to find how many minibuses were used.


3) Ali thinks of a number, f . He trebles it and adds 9 to get a new number
    a). Write an expression for the new number.

    b). 42 is his new number. Use this information to form an equation.

    c). Solve this equation to find what the original number was.


Ferry project
Magdalena and Tomasz are completing a project on ferries. They need to find as many facts as they can.
1) The dimensions of a freight container are 3m x b x 5m.
If its volume is 30m², what is the value of b?

												(Level 4)
2) Tomasz discovers that a ferry may change direction to miss oncoming bad weather. 
The total distance (d) travelled by one ferry is given by d = 3² + 4².
What is the value of d?

												(Level 4)

3) A road lorry can carry a load of t tonnes.
A new ferry, a mega catamaran, can carry 45 times as much as the lorry. 
Write an expression, in terms of t, to show the load a mega catamaran can carry.

												(Level 5)
4) Distance at sea is measured in nautical miles (n).
Magdalena knows that 2500n = 4630 kilometres. 
Solve the equation to find the value of one nautical mile..


												(Level 5)
5) The empty weight of a 20-foot freight container is 2200 kg.
Tomasz writes an expression to show the total weight of eight freight containers each carrying a load of w kg.
He writes 8w +2200
Show how his expression is incorrect. Write a correct expression.



												(Level 5)
6) The total weight of eight loaded containers is 52800kg.
Form an equation using your correct expression from Q5.
Solve the equation to find the load w in kilograms.



												(Level 6)
7) The fare for a single passenger on a ferry is f pounds.
a) Write, in terms of f, the cost of three passengers fares

b) The cost for a car (and passengers) is £40 more than the cost of a single passenger fares.

c) 3(f + 40) = 200 – f
Solve this equation to find the cost of a single passenger fare.




												(Level 6)

Post-tutoring Quiz									 Time limit: 3 minutes 
Parents transport the School football team to a match in p cars. Each car holds 4 members of the squad. All the cars are full except the last one which only has 1 player in it.
    a). Write an expression for the number of players taken to the match.
 
    b). The manager checks the 17 players in the squad arrive. Use this information to form an equation.

    c). Solve this equation to find how many cars are used.



Score: _____/3
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